Teachers Teaching with Technology”
Prof n Texas Instruments

Algebra Test 1A
Name: @ Ig 29 - O

12 Navigator Assessment Student 25 min

Question: 1

Which one of the following is not a factor of: x* —2x* —x* +2x ?

a) x-1 b) x+1 c) X d x-2 e) X+2
Question: 2

The equation to the graph shown is given by:

a)  f()=(x-a)(x-b)(x—c)

b)  f(X)=(x+a)(x+b)(x+c) /\ j

¢)  F()=(x-a)x-b)(x—c) TN

d f(xX)=(x—a)(x—b)(x—c) i

e) f(x)=(x—-a)(x—b)(x—c)

Question: 3
If x—a is a factor of: x*+(4—a)x* —4x+1 the value of a is:
a) 1 b) 4 c) 1 d) -1 e) 2.78316
2
Question: 4

Given g(x):ln(gj—l and g(f(x))=x then f(x) is equal to:
a) X b) 2e c) In(2x)+1 d) 2t e) 2e*+1

Question: 5
If a and b are non-zero real numbers, and the graph of y =ax’ +b is defined on its maximal

domain, then the graph is

a) aone-to-one function b) amany-to-one function
c) aone-to-many function d) amany-to-one relation
e) nota relation

Question: 6
Given f:(-2a,a] >R, f(x)=-a—x where a>0, the range of the function f is
a) (-2a,a] b) [-2a,a) ) (-2aa) d) [a2a) e) (az2a]
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Question: 7
If f(x)=(x*+ax+36)(x*+8x+b) has no solutions for f(x)=0 then:

a) a=6and b=64 b) -6<a<6 and -64<b<64
c) a<12 and b<16 d) -12<a<12 and -16<b<16
e) -12<a<12 and b>16

Question: 8
Given f (x) is quadratic and a is a real constant, if f (a) =0, f(3a)=0 and f (0)=3a’, which

of the following is true?

a) Theline x=-2a is the axis of symmetry
b)  The point (2a,a”) is a minimum turning point
€)  The point (2a,—a”) is a minimum turning point
d)  The point (2a,a*) is a maximum turning point

€) The point 2a,—a2) IS @ maximum turning point

Question: 9

For the function f (x)=a+

( )2 , on its maximal domain, which of the following is false?
X+C

a) The graph has a vertical asymptote at x=—c.
b) The graph has a horizontal asymptote at y=a.
c) The maximal domain is R\{-c}.

d) Therangeis R\{-b}.

e) The graph is not continuous.

Question: 10
Given f(x)=+/x+3 and g(x) =~1—x defined on their maximal domain, then the graph of
h(x) = f (x)— g(x) has maximal domain and range respectively given by:

a) [-3x), R b) [Lw), R
¢) [03)u[Lx), R d [-31], R
e) [31, [-22]
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